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Question Number : 1 Question Id : 146587701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following National Park is situated in Chhattisgarh?
Options :
1465872801.  Dudhwa National Park
1465872802.  Kanger Ghati National Park
1465872803.  Valmiki National Park
1465872804.  Kanha National Park
   
Question Number : 1 Question Id : 146587701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
निम्नलिखित में से कौन सा राष्ट्री य उद्यान छत्तीसगढ़ में स्थित है?
Options :
1465872801.  दुधवा राष्ट्री य उद्यान
1465872802.  कांगेर घाटी राष्ट्री य उद्यान
1465872803.  वाल्मीकि राष्ट्री य उद्यान



1465872804.  कान्हा राष्ट्री य उद्यान
   
Question Number : 2 Question Id : 146587702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following state shares longest border with Chhattisgarh?
Options :
1465872805.  Madhya Pradesh
1465872806.  Bihar
1465872807.  Andhra Pradesh
1465872808.  Odisha
   
Question Number : 2 Question Id : 146587702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ के  साथ निम्नलिखित में से किस राज्य की सबसे लंबी सीमा जुड़ी है?
Options :
1465872805.  मध्य प्रदेश
1465872806.  बिहार
1465872807.  आंध्र प्रदेश
1465872808.  ओडिशा
   
Question Number : 3 Question Id : 146587703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
During the, Mahatma Gandhi arrived second time in Chhattisgarh in:
Options :
1465872809.  Non-Cooperation Movement
1465872810.  Quit India Movement
1465872811.  Civil Disobedience Movement
1465872812.  Champaran Satyagarah



   
Question Number : 3 Question Id : 146587703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
________ के  दौरान, महात्मा गांधी दू सरी बार छत्तीसगढ़ आए थे।
Options :
1465872809.  असहयोग आंदोलन
1465872810.  भारत छोड़ो आंदोलन
1465872811.  सविनय अवज्ञा आंदोलन
1465872812.  चंपारण सत्याग्रह
   
Question Number : 4 Question Id : 146587704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following newspaper was NOT published in colonial period of Chhattisgarh?
Options :
1465872813.  Alok
1465872814.  Mahakoshal
1465872815.  Pratap
1465872816.  Congress Patrika
   
Question Number : 4 Question Id : 146587704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
निम्नलिखित में से कौन सा समाचार पत्र छत्तीसगढ़ के  औपनिवेशिक काल में प्रकाशित नहीं  हुआ था?
Options :
1465872813.  आलोक
1465872814.  महाकौशल
1465872815.  प्रताप
1465872816.  कांग्रेस पत्रिका
   



Question Number : 5 Question Id : 146587705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
When the Bhoomkal Revolt was started in Chhattisgarh?
Options :
1465872817.  1910
1465872818.  1915
1465872819.  1895
1465872820.  1898
   
Question Number : 5 Question Id : 146587705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ में भूमकल विद्रोह (Bhoomkal Revolt) कब शुरू हुआ था?
Options :
1465872817.  1910
1465872818.  1915
1465872819.  1895
1465872820.  1898
   
Question Number : 6 Question Id : 146587706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Under the Chhattisgarh Panchayat Raj Adhiniyam, 1993, provided that not less than _______ of the total number of offices of President of Zila
Panchayat shall be reserved for women.
Options :
1465872821.  Half
1465872822.  One Fourth
1465872823.  One fifth
1465872824.  One third
   
Question Number : 6 Question Id : 146587706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ पंचायत राज अधिनियम, 1993 के  तहत, जिला पंचायत अध्यक्ष के  पदों की कु ल संख्या के  कम से कम ________ पद महिलाओं के  लिए आरक्षित
होंगे।
Options :
1465872821.  1/2
1465872822.  1/4
1465872823.  1/5
1465872824.  1/3
   
Question Number : 7 Question Id : 146587707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Under the Chhattisgarh Panchayat Raj Adhiniyam, 1993, the _________ shall in consultation with the State Election Commission make rules for
the preparation of Electoral rolls and conduct of all Elections to the Panchayats.
Options :
1465872825.  State Government
1465872826.  Governor
1465872827.  High Court
1465872828.  District Collector
   
Question Number : 7 Question Id : 146587707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ पंचायत राज अधिनियम, 1993 के  तहत, _________ राज्य चुनाव आयोग के  परामर्श से पंचायतों के  सभी चुनावों की मतदाता सूची तैयार करने और
संचालन के  लिए नियम बनाएगी।
Options :
1465872825.  राज्य सरकार
1465872826.  राज्यपाल
1465872827.  उच्च न्यायालय
1465872828.  जिला कलेक्टर
   



Question Number : 8 Question Id : 146587708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
The State Government shall make grant-in-aid to the Panchayats as may be decided on the basis of recommendations of the __________.
Options :
1465872829.  State Finance Commission
1465872830.  Sarpanch
1465872831.  District Collector
1465872832.  Chief Judicial Magistrate
   
Question Number : 8 Question Id : 146587708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
राज्य सरकार पंचायतों को _________ की सिफारिशों के  आधार पर तय किया जाने वाला सहायता अनुदान प्रदान करेगी।
Options :
1465872829.  राज्य वित्त आयोग
1465872830.  सरपंच
1465872831.  जिला कलेक्टर
1465872832.  मुख्य न्यायिक मजिस्ट्रे ट
   
Question Number : 9 Question Id : 146587709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
In Chhattisgarh State diamond bearing kimberlite pipes are reported from Mainpur area of _______ District.
Options :
1465872833.  Bilaspur
1465872834.  Sukma
1465872835.  Kabirdham
1465872836.  Gariyaband
   
Question Number : 9 Question Id : 146587709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ राज्य में _________ जिले के  मैनपुर क्षेत्र से हीरे  के  किम्बरलाइट पाइप प्राप्त हुए हैं।
Options :
1465872833.  बिलासपुर
1465872834.  सुकमा
1465872835.  कबीरधाम
1465872836.  गरियाबंद
   
Question Number : 10 Question Id : 146587710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Tin ore is known as cassiterite, which was reported in ________ district of Chhattisgarh state.
Options :
1465872837.  Dantewara
1465872838.  Sukma
1465872839.  Korba
1465872840.  Jagdalpur
   
Question Number : 10 Question Id : 146587710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
टिन अयस्क को कै सिटराइट (cassiterite) के  रूप में जाना जाता है, जिसकी सूचना छत्तीसगढ़ राज्य के  ________ जिले में मिली थी।
Options :
1465872837.  दंतेवाड़ा
1465872838.  सुकमा
1465872839.  कोरबा
1465872840.  जगदलपुर
   
Question Number : 11 Question Id : 146587711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0



During the 14th CE, which of the following dynasties ruled Chhattisgarh?
Options :
1465872841.  Chalukya dynasty
1465872842.  Marathas
1465872843.  Chedi dynasty
1465872844.  Haihaya dynasty
   
Question Number : 11 Question Id : 146587711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

14वीं  शताब्‍दी के  दौरान, निम्‍नलिखित में से किस राजवंश ने छत्तीसगढ़ पर शासन किया?
Options :
1465872841.  चालुक्य वंश
1465872842.  मराठा
1465872843.  चेदि वंश
1465872844.  हैहय वंश
   
Question Number : 12 Question Id : 146587712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
In 1854, Chhattisgarh was formed into a deputy commissionership with its headquarters at:
Options :
1465872845.  Raipur
1465872846.  Bastar
1465872847.  Dhamtari
1465872848.  Durg
   
Question Number : 12 Question Id : 146587712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
1854 में, छत्तीसगढ़ का डिप्टी कमिश्नरशिप में गठन किया गया था, जिसका मुख्‍यालय _________ था।



Options :
1465872845.  रायपुर
1465872846.  बस्तर
1465872847.  धमतरी
1465872848.  दुर्ग
   
Question Number : 13 Question Id : 146587713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following states is to the south west of Chhattisgarh and shares boundary with it?
Options :
1465872849.  Kerala
1465872850.  Madhya Pradesh
1465872851.  Odisha
1465872852.  Maharashtra
   
Question Number : 13 Question Id : 146587713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
निम्‍नलिखित में से कौन सा राज्‍य छत्तीसगढ़ के  दक्षिण पश्चिम में स्थित है और इसके  साथ सीमा साझा करता है? 
Options :
1465872849.  के रल
1465872850.  मध्य प्रदेश
1465872851.  ओडिशा
1465872852.  महाराष्ट्र
   
Question Number : 14 Question Id : 146587714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Chhattisgarh State largely consists of plateaus streaked with high range of which of the following mountain in the north?
Options :



1465872853.  Karakoram
1465872854.  Vindhaya
1465872855.  Aravali
1465872856.  Satpura
   
Question Number : 14 Question Id : 146587714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ राज्य में उत्तर में निम्नलिखित में से किस पर्वत की उच्च श्रेणी वाले पठार हैं?
Options :
1465872853.  काराकोरम
1465872854.  विंध्य:
1465872855.  अरावली
1465872856.  सतपुड़ा
   
Question Number : 15 Question Id : 146587715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
What is the name of the art form of Chhattisgarh’s solo drama?
Options :
1465872857.  Panthi
1465872858.  Pandwani
1465872859.  Raut Nacha
1465872860.  Kapalik
   
Question Number : 15 Question Id : 146587715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ के  एकल नाटक के  कला रूप का क्या नाम है?
Options :
1465872857.  पंथी



1465872858.  पंडवानी
1465872859.  राउत नाच
1465872860.  कापालिक
   
Question Number : 16 Question Id : 146587716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following folk songs of Chhattisgarh are sung during marriage celebrations?
Options :
1465872861.  Karma
1465872862.  Gaura
1465872863.  Bihav
1465872864.  Danda
   
Question Number : 16 Question Id : 146587716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ के  निम्नलिखित लोकगीतों में से कौन सा गीत विवाह समारोहों के  दौरान गाया जाता है?
Options :
1465872861.  करमा
1465872862.  गौरा
1465872863.  बिहाव
1465872864.  डंडा
   
Question Number : 17 Question Id : 146587717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the folk dances of Chhattisgarh is also known as parrot dance?
Options :
1465872865.  Raut Nacha
1465872866.  Sua Nacha



1465872867.  Saila Nacha
1465872868.  Karma Nacha
   
Question Number : 17 Question Id : 146587717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ के  निम्नलिखित लोक नृत्यों में से कौन से नृत्य को तोता नृत्य भी कहा जाता है?
Options :
1465872865.  राऊत नाच
1465872866.  सुआ नाच
1465872867.  सैला नृत्य
1465872868.  करमा नृत्य
   
Question Number : 18 Question Id : 146587718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following festivals of Chhattisgarh is also known as 'Chariot festival'?
Options :
1465872869.  Goncha festival
1465872870.  Bastar Dussera
1465872871.  Bastar Lokotsav
1465872872.  Madai Festival
   
Question Number : 18 Question Id : 146587718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ के  निम्नलिखित त्यौहारों में से किसे ‘रथ उत्सव’ के  रूप में भी जाना जाता है?
Options :
1465872869.  गोंचा त्यौहार
1465872870.  बस्तर दशहरा
1465872871.  बस्तर लोकोत्सव



1465872872.  मड़ई त्यौहार
   
Question Number : 19 Question Id : 146587719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT one of the tribes mostly found in Bastar region of Chhattisgarh?
Options :
1465872873.  Sunna
1465872874.  Halba
1465872875.  Gonds
1465872876.  Muria
   
Question Number : 19 Question Id : 146587719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
निम्नलिखित में से कौन सी छत्तीसगढ़ के  बस्तर क्षेत्र में पाई जाने वाली जनजातियों में से एक नहीं  है?
Options :
1465872873.  सुन्ना
1465872874.  हल्बा
1465872875.  गोंड
1465872876.  मुड़िया/मुरिया
   
Question Number : 20 Question Id : 146587720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following biosphere reserve is located in Chhattisgarh and Madhya Pradesh state?
Options :
1465872877.  Achanakmar-Amarkantak Biosphere Reserve
1465872878.  Panchmari Biosphere Reserve
1465872879.  Panna Biosphere Reserve 
1465872880.  Agasthyamalai Biosphere Reserve 



   
Question Number : 20 Question Id : 146587720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
निम्नलिखित में से कौन सा बायोस्फीयर रिजर्व छत्तीसगढ़ और मध्य प्रदेश राज्य में स्थित है?
Options :
1465872877.  अचानकमार-अमरकं टक बायोस्फीयर रिजर्व
1465872878.  पचमढ़ी बायोस्फीयर रिजर्व
1465872879.  पन्ना बायोस्फीयर रिजर्व
1465872880.  अगस्त्यमलाई बायोस्फीयर रिजर्व
   
Question Number : 21 Question Id : 146587721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
In which district does Kanan Pendari Zoo park is located in Chhattisgarh?
Options :
1465872881.  Raipur
1465872882.  Dhamtari
1465872883.  Jagdalpur
1465872884.  Bilaspur
   
Question Number : 21 Question Id : 146587721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ में कानन पेंडारी चिड़ियाघर किस जिले में स्थित है?
Options :
1465872881.  रायपुर
1465872882.  धमतरी
1465872883.  जगदलपुर
1465872884.  बिलासपुर
   



Question Number : 22 Question Id : 146587722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Chhattisgarh has allocated _____ of its expenditure on rural development as per budget analysis 2020-21.
Options :
1465872885.  3.6%
1465872886.  4.8%
1465872887.  5.1%
1465872888.  6.8%
   
Question Number : 22 Question Id : 146587722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ ने बजट विश्लेषण 2020-21 के  अनुसार ग्रामीण विकास पर अपने खर्च का _________ आवंटित किया है।
Options :
1465872885.  3.6%
1465872886.  4.8%
1465872887.  5.1%
1465872888.  6.8%
   
Question Number : 23 Question Id : 146587723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following is the head quarter of Korea district?
Options :
1465872889.  Surajpur
1465872890.  Kawarda
1465872891.  Baikunthpur
1465872892.  Mungeli
   
Question Number : 23 Question Id : 146587723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ के  कोरिया जिले का मुख्यालय निम्नलिखित में से कौन सा है?
Options :
1465872889.  सूरजपुर
1465872890.  कवार्दा
1465872891.  बैकुं ठपुर
1465872892.  मुंगेली
   
Question Number : 24 Question Id : 146587724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following is the newly formed district of Chhattisgarh in the year 2019?
Options :
1465872893.  Manendragarh
1465872894.  Mohla-Manpur
1465872895.  Gaurela-Pendra-Marwahi
1465872896.  Sarangarh-Bilaigarh
   
Question Number : 24 Question Id : 146587724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
निम्नलिखित में से कौन सा वर्ष 2019 में छत्तीसगढ़ का नवगठित जिला है?
Options :
1465872893.  मनेन्द्रगढ़
1465872894.  मोहला-मानपुर
1465872895.  गौरेला-पेंड्रा -मरवाही
1465872896.  सारंगढ़-बिलाईगढ़
   
Question Number : 25 Question Id : 146587725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0



With which organization has Chhattisgarh government signed MoU for development initiatives in eight worst Naxal-affected districts in
Chhattisgarh, which were covered under the "transformation of aspirational" districts programme in the year 2018?
Options :
1465872897.  Shivnadar foundation
1465872898.  Infosys
1465872899.  Aditya Birla
1465872900.  Tata Trusts
   
Question Number : 25 Question Id : 146587725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ सरकार ने किस संगठन के  साथ छत्तीसगढ़ में आठ सबसे अधिक नक्सल प्रभावित जिलों में विकास की पहल के  लिए समझौता ज्ञापन पर हस्ताक्षर
किए हैं, जो वर्ष 2018 में "आकांक्षी परिवर्तन" जिलों के  कार्यक्रम के  तहत कवर किए गए थे?
Options :
1465872897.  शिवनडार फाउंडेशन
1465872898.  इंफोसिस
1465872899.  आदित्य बिरला
1465872900.  टाटा ट्र स्ट्स
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Question Number : 26 Question Id : 146587726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a point and draw input device?
Options :
1465872901.  Mouse
1465872902.  Plotter
1465872903.  Trackball
1465872904.  Joystick
   
Question Number : 26 Question Id : 146587726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
निम्नलिखित में से कौन सा एक पॉइंट और ड्रा  इनपुट डिवाइस नहीं  है?
Options :
1465872901.  माउस
1465872902.  प्लॉटर
1465872903.  ट्रै कबॉल
1465872904.  जॉयस्टिक
   
Question Number : 27 Question Id : 146587727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following contains a basic unit called phonemes to perform its operation?
Options :
1465872905.  Speech synthesizer
1465872906.  Inkjet printers
1465872907.  Flatbed plotters
1465872908.  Screen image projector
   
Question Number : 27 Question Id : 146587727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
अपना संचालन करने के  लिए, निम्नलिखित में से किसमें फोनेम्स (phonemes) नामक एक बेसिक यूनिट (basic unit) होता है?
Options :
1465872905.  स्पीच सिंथेसाइज़र (Speech synthesizer)
1465872906.  इंकजेट प्रिंटर्स (Inkjet printers)
1465872907.  फ्लैटबेड प्लॉटर्स (Flatbed plotters)
1465872908.  स्क्रीन इमेज प्रोजेक्टर (Screen image projector)
   
Question Number : 28 Question Id : 146587728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are FALSE?

(i) Scanners are input devices that allow data entry from source documents directly.
(ii) Some of the scanners are capable of recognizing marks or characters.
Options :
1465872909.  Only (i)
1465872910.  Only (ii)
1465872911.  Both (i) and (ii)
1465872912.  Neither (i) nor (ii)
   
Question Number : 28 Question Id : 146587728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
निम्नलिखित में से कौन से कथन असत्य हैं?

(i) स्कै नर वह इनपुट डिवाइस हैं, जो सीधे स्रोत डॉक्यूमेंट (दस्तावेज़ों) से डेटा एं ट्री  (प्रविष्टि) की अनुमति देते हैं।
(ii) कु छ स्कै नर चिह्नों या संप्रतीकों को पहचानने में सक्षम होते हैं।
Options :
1465872909.  के वल (i)
1465872910.  के वल (ii)



1465872911.  (i) और (ii) दोनों
1465872912.  न तो (i) न ही (ii)
   
Question Number : 29 Question Id : 146587729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following statements is FALSE?
Options :
1465872913.  CPU is also called the brain of a computer system.
1465872914.  RAM is an integral component of CPU.
1465872915.  CPU has its own storage units, called registers.
1465872916.  Each CPU has its own instructions set.
   
Question Number : 29 Question Id : 146587729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
निम्नलिखित में से कौन सा कथन असत्य है?
Options :
1465872913.  CPU को कं प्यूटर सिस्टम का मस्तिष्क भी कहा जाता है।
1465872914.  RAM, CPU का अभिन्न घटक है।
1465872915.  CPU में स्वयं की स्टोरेज यूनिट होती हैं, जिन्हें रजिस्टर कहा जाता है।
1465872916.  प्रत्येक CPU के  अपने इंस्ट्र क्शन सेट होते हैं।
   
Question Number : 30 Question Id : 146587730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
A 32-bit CPU register can store _________.
Options :
1465872917.  8 bytes
1465872918.  8 nibbles
1465872919.  2 Kilobits



1465872920.  64 bits
   
Question Number : 30 Question Id : 146587730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
32-बिट CPU रजिस्टर, ________ स्टोर कर सकता है।
Options :
1465872917.  8 बाइट्स
1465872918.  8 निबल्स
1465872919.  2 किलोबिट्स
1465872920.  64 बिट्स
   
Question Number : 31 Question Id : 146587731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following options best describes the truthfulness of the following statements?

(i) Both DRAM and SRAM are faster than Hard Disk.
(ii) Both RAM and hard Disk are semi-random access memory.
Options :
1465872921.  (i) - TRUE; (ii) - TRUE
1465872922.  (i) - TRUE; (ii) - FALSE
1465872923.  (i) - FALSE; (ii) - TRUE
1465872924.  (i) - FALSE; (ii) - FALSE
   
Question Number : 31 Question Id : 146587731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
निम्नलिखित में से कौन सा विकल्प निम्नलिखित कथनों की सत्यता का सर्वोत्तम वर्णन करता है? 

(i) DRAM और SRAM दोनों ही हार्ड डिस्क से तेज होते हैं।
(ii) रैम (RAM) और हार्ड डिस्क दोनों ही सेमी-रैंडम एक्सेस मेमोरी हैं।
Options :



1465872921.  (i) - सत्य; (ii) - सत्य
1465872922.  (i) - सत्य; (ii) - असत्य
1465872923.  (i) - असत्य; (ii) - सत्य
1465872924.  (i) - असत्य; (ii) - असत्य
   
Question Number : 32 Question Id : 146587732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Go language initially developed at _______.
Options :
1465872925.  Facebook
1465872926.  Google
1465872927.  Microsoft
1465872928.  IBM
   
Question Number : 32 Question Id : 146587732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
गो लैंग्वेज (Go language) मूलतः  _______ में विकसित हुई थी।
Options :
1465872925.  फे सबुक
1465872926.  गूगल
1465872927.  माइक्रोसॉफ्ट
1465872928.  IBM
   
Question Number : 33 Question Id : 146587733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0



Options :
1465872929.  a - ii; b - I; c - iv; d - iii
1465872930.  a - i; b - ii; c - iv; d - iii
1465872931.  a - ii; b - iii; c - iv; d - i
1465872932.  a - ii; b - i; c - iii; d - iv
   
Question Number : 33 Question Id : 146587733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Options :



1465872929.  a - ii; b - I; c - iv; d - iii
1465872930.  a - i; b - ii; c - iv; d - iii
1465872931.  a - ii; b - iii; c - iv; d - i
1465872932.  a - ii; b - i; c - iii; d - iv
   
Question Number : 34 Question Id : 146587734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
What is file extension of java bytecode file?
Options :
1465872933.  .java
1465872934.  .class
1465872935.  .jav
1465872936.  .bytecode
   
Question Number : 34 Question Id : 146587734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
जावा बाइटकोड फ़ाइल का फ़ाइल एक्सटेंशन क्या है?
Options :
1465872933.  .java
1465872934.  .class
1465872935.  .jav
1465872936.  .bytecode
   
Question Number : 35 Question Id : 146587735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
A______ language is Markup language.
Options :
1465872937.  PHP
1465872938.  SGML



1465872939.  Java
1465872940.  VB.net
   
Question Number : 35 Question Id : 146587735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
______ भाषा (लैंग्वेज), मार्क अप भाषा है।
Options :
1465872937.  PHP
1465872938.  SGML
1465872939.  जावा
1465872940.  VB.net
   
Question Number : 36 Question Id : 146587736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Options :
1465872941.  a - ii; b - i; c - iv; d - iii
1465872942.  a - i; b - ii; c - iv; d - iii
1465872943.  a - ii; b - iii; c - iv; d - i
1465872944.  a - ii; b - iv; c - i; d - iii
   
Question Number : 36 Question Id : 146587736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Options :
1465872941.  a - ii; b - i; c - iv; d - iii
1465872942.  a - i; b - ii; c - iv; d - iii
1465872943.  a - ii; b - iii; c - iv; d - i
1465872944.  a - ii; b - iv; c - i; d - iii
   
Question Number : 37 Question Id : 146587737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
The language processor which translates the entire source program written in assembly language into object code, executable in the machine is
known as _________.
Options :
1465872945.  Compiler
1465872946.  Interpreter
1465872947.  Assembler
1465872948.  Coder
   
Question Number : 37 Question Id : 146587737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0



________ एक लैंग्वेज प्रोसेसर है, जो असेंबली लैंग्वेज में लिखे गए संपूर्ण सोर्स प्रोग्राम को मशीन द्वारा निष्पादित किये जा सकने वाले ऑब्जेक्ट कोड में
परिवर्तित करता है।
Options :
1465872945.  कं पाइलर
1465872946.  इंटरप्रेटर
1465872947.  असेंबलर
1465872948.  कोडर
   
Question Number : 38 Question Id : 146587738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Options :
1465872949.  Page break
1465872950.  Line break
1465872951.  Underlined font
1465872952.  Bold font
   
Question Number : 38 Question Id : 146587738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Options :
1465872949.  पेज ब्रेक के  लिए
1465872950.  लाइन ब्रेक के  लिए
1465872951.  फ़ॉन्ट अंडरलाइन करने के  लिए
1465872952.  फ़ॉन्ट बोल्ड करने के  लिए
   
Question Number : 39 Question Id : 146587739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
If size of the 'int' data type in a machine is 2 bytes, then which of the following is an out of range integer value?
Options :
1465872953.  -32768
1465872954.  +32766
1465872955.  -32000
1465872956.  +32768
   
Question Number : 39 Question Id : 146587739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
यदि एक मशीन में इंट ‘(int)’ डेटा टाइप का आकार 2 बाइट्स होता है, तो निम्न में से कौन-सा एक आउट ऑफ रेंज इंटीजर वैल्यू है?
Options :
1465872953.  –32768
1465872954.  +32766
1465872955.  –32000
1465872956.  +32768
   
Question Number : 40 Question Id : 146587740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Options :



1465872957.  A - 3; B - 4; C - 1; D - 2
1465872958.  A - 4; B - 3; C - 1; D - 2
1465872959.  A - 1; B - 2; C - 3; D - 4
1465872960.  A - 4; B - 3; C - 2; D - 1
   
Question Number : 40 Question Id : 146587740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Options :
1465872957.  A - 3; B - 4; C - 1; D - 2
1465872958.  A - 4; B - 3; C - 1; D - 2
1465872959.  A - 1; B - 2; C - 3; D - 4
1465872960.  A - 4; B - 3; C - 2; D - 1
   
Question Number : 41 Question Id : 146587741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
The language processor which translates the source programs written in high-level language into object code executable by the machine is known
as __________.



Options :
1465872961.  Compiler
1465872962.  Interpreter
1465872963.  Assembler
1465872964.  Language Coder
   
Question Number : 41 Question Id : 146587741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
______ एक लैंग्वेज प्रॉसेसर है जो हाई लेवल लैंग्वेज में लिखे हुए सोर्स प्रोग्राम को मशीन द्वारा निष्पादित किये जा सकने वाले ऑब्जेक्ट कोड में परिवर्तित करता
है।
Options :
1465872961.  कं पाइलर
1465872962.  इंटरप्रेटर
1465872963.  असेंबलर
1465872964.  लैंग्वेज कोडर
   
Question Number : 42 Question Id : 146587742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which one of the following is NOT a valid identifier name in C programming language?
Options :
1465872965.  UniveRse
1465872966.  %Uni
1465872967.  Uni_123
1465872968.  _UniVerse
   
Question Number : 42 Question Id : 146587742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
प्रोग्रामिंग लैंग्वेज C में, निम्नलिखित में से क्या एक वैध आइडेंटिफायर नाम नहीं  है?
Options :



1465872965.  UniveRse
1465872966.  %Uni
1465872967.  Uni_123
1465872968.  _UniVerse
   
Question Number : 43 Question Id : 146587743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
The ‘C’ language operators in each options have the same precedence. Which one of the following options has associativity from left-to-right?
Options :

1465872969.  

1465872970.  

1465872971.  

1465872972.  

   
Question Number : 43 Question Id : 146587743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
प्रत्येक विकल्प में C लैंग्वेज ऑपरेटर्स की वरीयता समान होती है। निम्नलिखित में से किस ऑपरेटर की सहचारिता (associativity) बाएं  से दाएं  होगी?
Options :

1465872969.  

1465872970.  

1465872971.  



1465872972.  

   
Question Number : 44 Question Id : 146587744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
If the size of int data type in a machine is 2 bytes, then its data storage limit will be _________.
Options :
1465872973.  -32768 to +32767
1465872974.  -32767 to +32768
1465872975.  -65536 to +65535
1465872976.  -65535 to +65536
   
Question Number : 44 Question Id : 146587744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
यदि मशीन में int डेटा टाइप का आकार 2 बाइट्स है, तो इसकी डेटा स्टोरेज सीमा क्या होगी?
Options :
1465872973.  –32768 से +32767
1465872974.  –32767 से +32768
1465872975.  –65536 से +65535
1465872976.  –65535 से +65536
   
Question Number : 45 Question Id : 146587745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which one of the following is NOT an object-oriented programming language?
Options :
1465872977.  JAVA
1465872978.  C++
1465872979.  C
1465872980.  C#



   
Question Number : 45 Question Id : 146587745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
निम्नलिखित में से कौन सी ऑब्जेक्ट-ओरिएं टेड प्रोग्रामिंग लैंग्वेज नहीं  है?
Options :
1465872977.  JAVA
1465872978.  C++
1465872979.  C
1465872980.  C#
   
Question Number : 46 Question Id : 146587746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
ANSI stands for ___________.
Options :
1465872981.  American Network Standards Institute
1465872982.  American National Study Institute
1465872983.  American National Standards Institute
1465872984.  American Network Study Institute
   
Question Number : 46 Question Id : 146587746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
ANSI का पूर्ण रूप क्या है?
Options :
1465872981.  American Network Standards Institute (अमेरिकन नेटवर्क  स्टैंडर्ड्स इंस्‍टीट्यूट)
1465872982.  American National Study Institute (अमेरिकन नेशनल स्टडी इंस्‍टीट्यूट)
1465872983.  American National Standards Institute (अमेरिकन नेशनल स्टैंडर्ड्स इंस्‍टीट्यूट)
1465872984.  American Network Study Institute (अमेरिकन नेटवर्क  स्टडी इंस्‍टीट्यूट)
   



Question Number : 47 Question Id : 146587747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Options :
1465872985.  1 – A; 2 – G; 3 – F; 4 – D
1465872986.  1 – C; 2 – G; 3 – E; 4 – D
1465872987.  1 – A; 2 – G; 3 – E; 4 – D
1465872988.  1 – C; 2 – G; 3 – F; 4 – D
   
Question Number : 47 Question Id : 146587747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0



Options :
1465872985.  1 – A; 2 – G; 3 – F; 4 – D
1465872986.  1 – C; 2 – G; 3 – E; 4 – D
1465872987.  1 – A; 2 – G; 3 – E; 4 – D
1465872988.  1 – C; 2 – G; 3 – F; 4 – D
   
Question Number : 48 Question Id : 146587748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
HTTP is most popular protocol to connect web applications. What is the full-form of HTTP?
Options :
1465872989.  Hyper Text Transfer Protocol
1465872990.  Hyper Text Transfer Procedure
1465872991.  Highlighted Text Transfer Protocol
1465872992.  Hyper Text Transmission Protocol



   
Question Number : 48 Question Id : 146587748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
वेब एप्लीके शन को कनेक्ट करने के  लिए HTTP सबसे लोकप्रिय प्रोटोकॉल है। HTTP का पूर्ण रूप क्‍या है?
Options :
1465872989.  Hyper Text Transfer Protocol (हाइपर टेक्स्ट ट्रां सफर प्रोटोकॉल)
1465872990.  Hyper Text Transfer Procedure (हाइपर टेक्स्ट ट्रां सफर प्रोसीजर)
1465872991.  Highlighted Text Transfer Protocol (हाइलाइटेड टेक्स्ट ट्रां सफर प्रोटोकॉल)
1465872992.  Hyper Text Transmission Protocol (हाइपर टेक्स्ट ट्रां समिशन प्रोटोकॉल)
   
Question Number : 49 Question Id : 146587749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
A number of programs called search engines are available to search for the information on any topic. Which among the following is NOT a
search engine?
Options :
1465872993.  MSN
1465872994.  Google
1465872995.  yahoo
1465872996.  MSIE
   
Question Number : 49 Question Id : 146587749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
किसी भी विषय पर जानकारी खोजने के  लिए कई प्रोग्राम उपलब्ध हैं, जिन्हें सर्च इंजन कहा जाता है। निम्नलिखित में से कौन सा एक सर्च इंजन नहीं  है?
Options :
1465872993.  MSN
1465872994.  Google
1465872995.  Yahoo
1465872996.  MSIE



   
Question Number : 50 Question Id : 146587750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Following are the components of Email address. The order of these components are:

A: Username
B: Domain name
C: @
Options :
1465872997.  A, B, C
1465872998.  A, C, B
1465872999.  C, A, B
1465873000.  B, C, A
   
Question Number : 50 Question Id : 146587750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
नीचे एक ई-मेल एड्रे स के  घटक दिए गए हैं। इन घटकों का सही क्रम क्या होगा?

A: यूजरनेम
B: डोमेन नेम
C: @
Options :
1465872997.  A, B, C
1465872998.  A, C, B
1465872999.  C, A, B
1465873000.  B, C, A


